QP Revision Course
MA – Financial Reporting

Revision 1 Non-Current Assets
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1.
Property, Plant and Equipment (HKAS 16)
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1.1
Definition

1.1.1
PPE are tangible assets with the following properties.

(a)
are held by an entity for use in the production or supply of goods or services, for rental to others, or for administrative purposes; and
(b)
are expected to be used during more than one period.
1.2
Recognition

1.2.1
Recognition depends on two criteria:
(a)
it is probable that future economic benefits associated with the asset will flow to the entity; and

(b)
the cost of the asset can be measured reliably.

1.3
Measurement

(a)
Initial measurement

1.3.1
Once recognized as an asset, items should be measured at cost.

1.3.2
Component of costs:

(a)
its purchase price, including import duties and non-refundable purchase taxes, after deducting trade discounts and rebates;

(b)
any costs directly attributable to bringing the asset to the location and condition necessary for it to be capable of operating in the manner intended by management; and 

(c)
the initial estimated of the costs of dismantling and removing the item and restoring the site on which it is located, the obligation for which an entity incurs either when the item is acquired or as a consequence of having used the item during a particular period for purposes other than to produce inventories during that period.
(b)
Subsequent costs
1.3.3
Costs of day-to-day servicing of PPE, primarily the costs of labour, consumables and small parts, have to be recognized in income statement as incurred.
1.3.4
When that servicing is part of a major overhaul or inspection (regardless of whether parts of the item are replaced) should be treated as a component of the cost of an asset and depreciated over the period until the next servicing.
1.3.5
In accordance with HKAS 16, circumstances in which subsequent expenditure on those assets being capitalized should depend on whether the expenditure incurred will result in a probable future economic benefit in excess of the amount originally assessed for the asset. All other subsequent expenditure should be recognized in the income statement as it is incurred.
(c)
Subsequent measurement

1.3.6
Cost model – is that PPE should be carried at cost less accumulated depreciation and any accumulated impairment losses.
1.3.7
Revaluation model – is that PPE should be carried at a revalued amount being its fair value at the date of revaluation less any subsequent accumulated depreciation and subsequent accumulated impairment losses.
1.3.8
Under HKFRS 13, fair value is the price that would be received to sell an asset or paid to transfer a liability in orderly transaction between market participants at the measurement date.
1.3.9
Basis and frequency of revaluation:

(a)
Revaluations should be made regularly so that the carrying value does not differ materially from its fair value at the reporting date.

(b)
The frequency of revaluation therefore depends on the volatility of the fair value.

(c)
When an item of PPE is revalued, the entire class of PPE should be revalued.

(d)
Increase in revaluation is recognized in other comprehensive income and accumulated in equity under the heading of revaluation surplus.

(e)
Decrease in revaluation is recognized in other comprehensive income to the extent of any credit balance existing in the revaluation surplus in respect of that asset.

(f)
Following revaluation, the depreciation charge should be based on the revalued amount.
(g)
An annual reserves transfer may be made (revaluation reserve to retained earnings) for extra depreciation on the revalued amount compared to cost. It depends on the company policy.

	
	$
	$

	Dr Depreciation charge – P&L
	X
	

	Cr Accumulated depreciation
	
	X

	(The following is optional entries, depends on company policy)

	Dr Revaluation reserve
	X
	

	Cr Retained earnings
	
	X


(d)
On disposal
1.3.10
When a revalued is disposed of, any revaluation surplus may be transferred directly to retained earnings.
1.4
Depreciation

(a)
Why make depreciation?

1.4.1
An entity is required to begin depreciating an item of PPE when it is available for use and to continue depreciating it until it is derecognized, even if during that period the item is idle.

1.4.2
Why depreciated?
(a)
depreciation is defined as simply a process of allocating the depreciable amount of the asset to the various accounting periods during which the asset is used to earn revenue (matching principle). It is not a process of accounting for the change in the value of assets.

(b)
to reflect the physical wear and tear, technological obsolescence, etc.

(b)
Depreciation method
1.4.3
HKAS 16 requires the depreciation method used to reflect the pattern in which the asset’s future economic benefits are expected to be consumed by the entity.

1.4.4
In order words, depreciation methods must reflect the pattern of consumption of economic benefits from an asset rather than a pattern of generation of economic benefits by an asset. Therefore, a revenue-based method of depreciation is not allowed.

1.4.5
A revenue-based method of depreciation is a method whereby the depreciation charge in a given year is calculated based on the revenue earned in that year as a proportion of total revenues expected to be generated by the asset over its useful life.

1.4.6
Examples of depreciation methods:
(a)
Straight line depreciation

(b)
Diminishing balance depreciation

(c)
The units of production method

1.5
Exchange of assets
(a)
General principles

1.5.1
When an item of property, plant and equipment is acquired in exchange for a non-monetary asset, the cost of the asset acquired should be measured based on the fair value unless

(a)
the exchange transaction lacks commercial substance or
(b)
the fair value of neither the asset received nor the asset given up is reliably measurable.
1.5.2
If an entity is able to determine reliably the fair value of either the asset received or the asset given up, we first look to the fair value of the asset(s) given up.

1.5.3
However, in a trade-in, quite often the fair value of the new asset is more clearly evident than the second-hand value of the asset traded in. We recognize a gain or loss for the difference between the fair value of the asset given up and its book value.

(b)
Exchange lacks commercial substance

1.5.4
If an exchange lacks commercial substance or fair value cannot be measured reliably, the acquired item in the exchange is not measured at fair value and is measured at the carrying amount of the asset given up.
1.5.5
To preclude the possibility of a company exchanging appreciated assets solely to recognize gain, fair value can be used only in gain situations that have commercial substance.

1.5.6
A commercial exchange is considered to have commercial substance if future cash flows will change as a result of the exchange. Most exchanges are for legitimate business reasons and would not be transacted if there were no anticipated change in future cash flows.

1.5.7
Loss situation – when a loss is included in a nonmonetary exchange, it is acceptable to record the loss and we use fair value to value the asset acquired.

2.
Investment Properties (HKAS 40)
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2.1
Definition
2.1.1
Investment property (IP) is property (land and/or building) held (by the owner or by the lessee under a finance lease) to earn rentals or for capital appreciation or both.

2.1.2
Examples of IP:

(a)
land held for long-term capital appreciation

(b)
land held for undecided future use

(c)
building leased out under an operating lease

2.1.3
Exception of IP:
(a)
Owner occupied property – the property is being held for use (as a factory or office) and not for its investment potential. It should be accounted for under HKAS 16.
(b)
Property held for sale in the normal course of business (e.g. a house builder) is inventories accounted for under HKAS 2.

(c)
Property being constructed for third parties is accounted for as a construction contract under HKAS 11.

(d)
Property being constructed or developed for future use as investment property. This will be accounted for as capital work in progress under HKAS 16 until the asset is finished and transferred to investment properties.

2.2
Dual use property
2.2.1
Some properties may have a dual use, i.e. part of the property is used as investment property and part of the property is held for own use.

2.2.2
HKAS 40 sets out the requirements in respect of whether any part of a dual use property can be regarded as investment property, if any one of the following conditions is met:
(a)
the portion could be sold separately (or leased out separately under a finance lease); or

(b)
the portion held for own use is an insignificant part of the property as a whole (in which case the whole property is classified as investment property).
2.3
Recognition

2.3.1
Recognition depends on two criteria:

(a)
it is probable that future economic benefits associated with the asset will flow to the entity; and

(b)
the cost of the IP can be measured reliably.

2.4
Measurement
(a)
Initial measurement

2.4.1
On recognition, investment property shall be recognized at cost, measured along the lines of the principles in HKAS 16.

(b)
Subsequent measurement

2.4.2
Cost model – carried at cost less accumulated depreciation and any accumulated impairment losses.

2.4.3
Fair value model –
(a)
measures at fair value each year.
(b)
no depreciation charge.

(c)
all gains and losses on revaluation are reported in the income statement as part of the profit or loss for the period..

2.4.4
Fair value is normally the active market price. There should be no deduction for transaction costs.

2.4.5
Where there is no market for similar properties, the following values may be considered:

(a)
current prices in an active market for properties of a different nature, condition or location, adjusted to reflect those difference;

(b)
recent prices in less active markets; or

(c)
discounted cash flow projections based on reliable estimates of future cash flows.

2.4.6
If in exceptional circumstances, it is impossible to measure the fair value of an individual investment property reliably, then the cost model should be adopted.
2.4.7
Change from one model to the other is permitted only if this results in a more appropriate presentation. HKAS 40 notes that this is highly unlikely for a change from the fair value model to the cost model.

2.5
Transfer
2.5.1
Transfers to or from investment property can only be made if there is a change of use. There are several possible situations:
(a)
Transfer from investment property to owner-occupied property.

Use the fair value at the date of the change for subsequent accounting under HKAS 16.

(b)
Transfer from investment property to inventory.

Use the fair value at the date of the change for subsequent accounting under HKAS 2 “Inventories”.

(c)
Transfer from owner-occupied property to investment property to be carried at fair value.

HKAS 16 (cost less depreciation) will have been applied up to the date of the change. On adopting fair value there will normally be an increase in value. This will be taken to the revaluation reserve in accordance with HKAS 16. If the fair value valuation causes a decrease in value, then it should be charged to the income statement.

The only exceptions to these treatments will arise if the property has previously been revalued upwards, when a decrease may be against the resultant revaluation surplus, or when an impairment loss has previously been recognized, when an increase may be recognized in the statement of comprehensive income.

(d)
Transfer from inventories to investment property to be carried at fair value.

Any differences in the carrying amount will be recognised in the income statement.
	Question 1 – PPE, investment properties and leases

Phoenix Real Estate Limited ("Phoenix") is a property developer in China. In 20X3, Phoenix acquired the land use rights of two pieces of land in Beijing for hotel development:
Property One – Since the date of the acquisition of the land, the board of Phoenix has decided to run the hotel on its own and commenced the pre-operating activities of the hotel on 1 January 20X5 when the development is completed and the hotel is available for its intended use. The hotel's grand opening took place on 1 July 20X5.
Property Two – Since the date of the acquisition of the land, the board of Phoenix decided to lease the whole property to earn rental income. A lease agreement was entered into to lease the whole property to its holding company (the "Tenant") for a period of eighteen years for the operation of a hotel.
The monthly revenue amount of the hotel operation is provided by the Tenant at the close of business of each month-end date.
Other information on these two properties:
Property One

Property Two

RMB’000

RMB’000

Cost of land use right

45,000

48,000

Cost of construction (excluding the right amortization of land use right)

303,000

267,000

Fair value of land use right at 31 December 20X5

60,000

100,000

Fair value of the building at existing status as at 31 December 20X5

560,000

340,000

Date of purchase of land use right

1 July 20X3

1 October 20X3

Term of land use right of the property

75 years

60 years

Estimated useful life of the property

50 years

40 years

Completion of construction of the building

December 20X4

June 20X5

Phoenix has adopted the cost model under HKAS 16 for property, plant and equipment and the fair value model under HKAS 40 for investment property (buildings only). Depreciation is provided to write off the cost of property, plant and equipment using the straight line method. The land use right is considered as a lease and accounted for in accordance with the requirements under HKAS 17. Amortisation of the cost of the land during the construction period is capitalised as part of the development cost of the property.
Required:

Calculate the amount of (1) land use right and (2) carrying amount of the building for each property to be reflected in Phoenix's statement of financial position as at 31 December 20X5. 
(9 marks)

(Amended HKICPA Module A Financial Reporting September 2006 Q4(a))


	Question 2 – Property, plant and equipment and investment properties

Ralland Corp (RLC), a property development and investment company, has the following properties at 31 December 2012, the end of the previous financial year:
Carrying amount

Original cost

HKD’M

HKD’M

Investment property – Tower A

25.8

18.6

Investment property under construction – Tower B

14.2

10.5

Office building – Tower C

28.5

30.0

Office building – Tower D

17.1

18.0

The company adopts the cost model for owned used property and the fair value model for investment property. All four properties were acquired in 2010 with an expected useful life of 50 years. Depreciation, if applicable, is calculated on a monthly basis and commenced on

1 July 2010.
To enhance the profitability of the property portfolio, RLC carried out the following activities:

(a)
Moved its headquarter from Tower C to Tower A upon the expiry of the lease with the tenant at the end of March 2013;

(b)
Refurnished Tower C at a cost of HKD1.8 million in April and May 2013 and then rented it out to earn rental income since 1 June 2013;

(c)
Completed the construction of Tower B by end of May 2013 with additional expenditure of HKD3.8 million; and

(d)
Sold Tower D at HKD30 million to an independent third party and entered into a lease of the premises for 2 years at a market rental of HKD80,000 per month on 1 May 2013.
An external valuer has been engaged to perform a valuation for all the properties except Tower D and the estimated fair values at 31 March 2013 and 30 June 2013 are as follows:
31 March 2013

30 June 2013

HKD’M

HKD’M

Tower A

26.4

27.2

Tower B

17.4

19.2

Tower C

38.0

40.0

Required:

(a)
Explain the implication of the activities occurred during the six months ended 30 June 2013 on the classification and the effective date for each of the properties of RLC.
(6 marks)

(b)
Determine the carrying amount at 30 June 2013 for each of the properties owned by RLC.
(5 marks)

(c)
Identify the nature and quantify the amount of each income and expenses item to be recognised in the statement of comprehensive income for the six months ended 30 June 2013 of RLC in relation to each of these properties.
(12 marks)
Note: Ignore tax effect and rental income from investment properties.


(HKICPA QP Module A Financial Reporting December 2013 Q3)


	Question 3 – PPE, investment properties and ethics

In the preparation of the financial statements for the year ended 31 March 2014 of ABC Group Limited (ABC), the following events have taken place:
(i)
ABC has four investment properties which it used to measure at cost model. The management planned to change the measurement of investment properties to the fair value model for two of these investment properties and the carrying amount of these two investment properties was initially adjusted to fair value at 31 March 2014.

(ii)
ABC owns an office building (Property A) that has been classified as property, plant and equipment in previous periods and accounted for under HKAS 16 using the cost model. On 1 April 2013, ABC moved out from Property A and decided that Property A will no longer be for its own use. ABC subsequently leased out Property A to a third party on 1 June 2013.

(iii)
On 31 March 2014, Ms. Wong, the accounting manager, was informed by the warehouse keeper that certain high-valued inventories had been stolen by a thief.
Required:

(a)
Advise ABC’s management the accounting implications and the appropriate accounting treatment for each of the above events (i) to (iii) in accordance with the relevant financial reporting standards.
(11 marks)

(b)
For event (iii) above, Ms. Wong reported to Mr. Lee, the financial controller of ABC, the theft of the inventories. To avoid recognition of a loss on inventories, Mr. Lee asked Ms. Wong to prepare a falsified consignment statement that these high-valued inventories was kept by a consignee in case the auditor discovers this during the stock-taking and queries the existence of such inventories. The incentive compensation scheme of ABC is linked to the financial performance of ABC. Mr. Lee convinced Ms. Wong that they would continue to receive a large bonus if they succeed. Both Ms. Wong and Mr. Lee are members of the Hong Kong Institute of Certified Public Accountants.
Required:

Discuss the behaviour of Mr. Lee in this case and the relevant safeguards. Advise what Ms. Wong should do in accordance with the Code of Ethics for Professional Accountants.
(7 marks)

(HKICPA QP Module A Financial Reporting December 2014 Q5)


	Question 4 – PPE, IP and inventories
Success Property Development Limited (“SPD”) is engaged in property development and investment. During the year ended 31 December 2015, it had the following portfolio of properties:
· SPD acquired Property A at a cost of HK$4,852,000 on 20 January 2015 with a view to resell to make a short term profit. However, SPD decided to rent it out to earn a stable rental income in December 2015 and finally leased it out to a tenant in February 2016 while the estimated resale price as at 31 December 2015 was HK$4,500,000.

· SPD held Property B with a view to resell originally but SPD decided to occupy it as its own office in the long run from 1 September 2015. The cost and carrying amount of Property B as at 1 January 2015 was HK$18,600,000 and the estimated fair value as at 31 December 2015 was HK$22,000,000.

· SPD decided to move its office from its own property (Property C) to Property B on 1 September 2015 and lease out Property C to earn rental income after refurbishment. The refurbishment had been completed in January 2016 and Property C was then leased out. As at 31 December 2015, the refurbishment cost incurred was HK$2,400,000. The cost and the carrying amount of Property C as at 1 January 2015 were HK$51,000,000 and HK$38,100,000 respectively. The estimated fair values as at 1 September 2015 and 31 December 2015 were HK$40,000,000 and HK$42,100,000 respectively.
The company adopts the cost model for owned-used property and the fair value model for investment property. Property B and Property C were acquired on 1 January 2012. The expected useful life of all properties is assumed to be 50 years after initial recognition. Depreciation, if applicable, is calculated on a monthly basis.
Required:

(a)
Explain the accounting implications for the above events in respect of Property A, Property B and Property C in the preparation of financial statements of SPD for the year ended 31 December 2015.
(6 marks)

(b)
Prepare the journal entries for each of the above events in the preparation of the financial statements of SPD for the year ended 31 December 2015.
(10 marks)


(HKICPA QP Module A Financial Reporting December 2016 Q6)


3.
Intangible Assets (HKAS 38)
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3.1
Definition
3.1.1
An intangible asset is an identifiable non-monetary asset without physical substance.

3.2
Recognition

3.2.1
An intangible asset should be recognized if all the following criteria are met.

(a)
It is identifiable.
(b)
It is controlled by the entity, i.e. the entity has the power to obtain economic benefits from it.

(c)
It is expected to generate future economic benefits for the entity.

(d)
It has a cost that can be measured reliably.

(a)
Identifiable

3.2.2
To be recognised the enterprise must be able to dispose (or transfer, license, rent or exchange, either individually or as part of a package) of the intangible asset without disposing of any other assets at the same time.
3.2.3
Intangible assets such as customer relationships cannot be separated from goodwill. In a business combination such assets would become part of goodwill, but they cannot be recognised by themselves.
(b)
Control

3.2.4
Patents, copyrights and restraint-of-trade agreements will give the enterprise legal rights to the future economic benefits and prevent other people from obtaining them. Therefore copyrights and patents can be capitalized.
3.2.5
One of the most valuable intangible assets is a trained and motivated work force. However, the enterprise cannot prevent its staff from leaving, and so the enterprise cannot control the future economic benefits expected to flow from its staff. Therefore, trained staff cannot be recognised as an intangible asset.
(c)
Probable future economic benefits

3.2.6
This can happen in two ways. Owning a brand name can boost revenues, while owning the patent for a production process may help to reduce production costs. Either way, the enterprise’s profits will be increased.
(d)
Reliable measurement

3.2.7
If the asset is acquired separately then this is straightforward. For example, the purchase price of a franchise should be capitalized, along with all the related legal and professional costs.

3.2.8
If the asset is acquired as part of a business combination, then its cost will equal its fair value at the date of acquisition. The best measure of fair value is the quoted price of similar assets on an active market.
(e)
Internal generated intangible assets

3.2.9
HKAS 38 includes additional recognition criteria for internally generated intangible assets. It specifically provides that internally generated goodwill, brands, mastheads, publishing titles, customer lists and items similar in substance should not be recognized as intangible assets.
3.2.10
Expenditure on internally generated brands, mastheads (報頭), publishing titles, customer lists and items similar in substance cannot be distinguished from the cost of developing the business as a whole. Therefore, such items are not recognised as intangible assets. Furthermore, all expenditure on research or during the research phase of an internal project is to be written off as an expense when it is incurred.
3.2.11
Examples of other expenditure that will not give rise to an intangible asset that can be recognized in the financial statements include the following:

(i)
expenditure on starting up an operation or a business (start-up costs);

(ii)
expenditure on training;

(iii)
expenditure on advertising and/or promotion; and

(iv)
expenditure on relocating or re-organising part or all of an enterprise.

3.2.12
If an intangible item does not meet both the definition and the recognition criteria of an intangible asset, the expenditure on this item should be recognized as an expense when it is incurred.
3.3
Measurement

(a)
Initial measurement
3.3.1
When an intangible asset is initially recognized, it is measured at cost.

(b)
Subsequent measurement

3.3.2
Cost model – measures the asset at cost less accumulated amortization and impairment.
3.3.3
Revaluation model – measures the asset at fair value less accumulated amortization and impairment.

3.3.4
The revaluation model is only permissible if a number of conditions are met:
(a)
the fair value must be capable of being measured reliably by reference to an active market.

(b)
all intangibles of the same class must be revalued.

(c)
revaluations must be made sufficiently frequent to ensure that the carrying value at each balance sheet date does not differ materially from the fair value.
3.3.5
An active market is a market where all the following conditions exist:

(a)
the items traded within the market are homogeneous;

(b)
willing buyers and sellers can normally be found at any time; and

(c)
prices are available to the public.
3.4
Amortisation
(a)
Useful life

3.4.1
An asset with a finite useful life must be amortised on a systematic basis over that life. The amortisation method used should reflect the pattern in which the asset’s economic benefits are consumed. If that pattern cannot be determined reliably, the straight-line method should be adopted. The amortisation charge should be recognized as an expense unless another HKFRSs or requires it to be included in the carrying amount of another asset. Normally the straight-line method with a zero residual value should be used.

3.4.2
An asset with an indefinite useful life is not amortised. Instead an annual impairment review must be carried out to compare the carrying amount with the recoverable amount.

3.4.3
It should be noted that the term “indefinite” does not mean “infinite”. The useful life reflects only that level of future maintenance expenditure required to maintain the brand at its standard of performance assessed at the time of estimating the brand's useful life.

3.4.4
Although an intangible asset with an indefinite useful life shall not be amortised, its value may not be kept unchanged forever. In fact, the value of an intangible asset may change when there is:

(a)
a change in the useful life assessment; or

(b)
an indication of impairment.
3.4.5
The change in the useful life assessment from indefinite to finite shall be accounted for as a change in an accounting estimate in accordance with HKAS 8.
3.4.6
Annual review of the amortization period of an intangible asset with finite useful should also be carried out at the end of each financial year.

3.4.7
Factors to consider when determining the useful life of an intangible asset:
(a)
Legal protection of the intangible asset and the control of the entity over the use by others of the intangible asset (i.e. control over piracy).

(b)
Age of the intangible asset.

(c)
Status or position of the intangible asset in its particular market.

(d)
Ability of the management of the entity to manage the intangible asset and to measure activities that support the intangible asset (e.g. advertising and PR activities).

(e)
Pattern of benefits that the intangible asset is expected to generate over time.
(f)
Intention of the entity to use and promote the intangible asset over time (as evidenced perhaps by a business plan in which there will be substantial expenditure to promote the intangible asset).

(b)
Residual value

3.4.8
HKAS 38 further specifies that the residual value of an intangible asset is assumed to be zero unless:

(a)
there is a commitment by a third party to purchase the asset at the end of its useful life; or

(b)
there is an active market for that type of asset, and residual value can be determined by reference to that market and it is probable that such a market will exist at the end of the asset’s useful life.

3.4.9
HKAS 38 requires the amortisation period and the amortisation method to be reviewed annually. Any change to the amortisation period and amortisation method should be accounted for as a change in an accounting estimate in accordance with HKAS 8.
3.5
Research and development

3.5.1
Research is original and planned investigation undertaken with the prospect of gaining new scientific or technical knowledge and understanding.

3.5.2
Development is the application of research findings or other knowledge to a plan or design for the production of new or substantially improved materials, devices, products, processes, systems or services before the start of commercial production or use.

3.5.3
Research expenditure cannot be recognized as an intangible asset. It should be written off in the year of expenditure through the income statement.
3.5.4
Development expenditure should be recognized as an intangible asset if an entity can demonstrate that the following criteria can be met.
(a)
the technical feasibility of completing the intangible asset

(b)
its intention to complete the intangible asset and use or sell it

(c)
its ability to use or sell the intangible asset

(d)
how the intangible asset will generate probable future economic benefits
(e)
the availability of adequate resources to complete the development and to use or sell the intangible asset, and

(f)
its ability to measure the expenditure attributable to the intangible asset during its development reliably.
3.6
Computer intangibles

3.6.1
Some computer software is an integral part of the related hardware, for example the computer program in a production-line robot or the operating system on a PC. The hardware will not work without the software, and so the software is capitalized as part of the hardware. This type of software is a tangible non-current asset subject to HKAS 16.

3.6.2
Stand-alone computer software (for example an accounts package) is an intangible asset subject to HKAS 38.
3.7
HKAS-INT – 32: Website costs
3.7.1
The cost of developing a corporate website may be capitalized if it meets the requirements of HKAS 38 for internally generated assets. In particular the website must generate probable economic benefits. Following on from this, the costs of developing a website that is merely part of the company’s general advertising and marketing strategy cannot be capitalized. However, a website that will take customer orders will generate future revenues and can be capitalized.
3.8
Goodwill

3.8.1
Definitions:
(a)
Goodwill is the difference the value of a business as a whole and the aggregate of the fair value of its separable net assets.
(b)
Separable net assets are those assets (and liabilities) which can be identified and sold off separately with necessarily disposing of the business as a whole. They include identifiable intangibles such as patents, licences and trademarks.
3.8.2
Goodwill arising on acquisition:
(a)
Goodwill arising on acquisition (or goodwill) is the excess of the cost of the acquisition over the acquirer’s interest in the fair values of the identifiable assets and liabilities acquired at the date of acquisition.

(b)
Goodwill should be recognized as an asset and carried at cost less any accumulated amortisation and accumulated impairment losses.
3.8.3
Accounting treatment – positive goodwill
(a)
Initial recognition – positive goodwill will be recognised as a non-current asset at cost.

(b)
Subsequent measurement – goodwill is carried at cost less accumulated impairment losses.

(c)
HKFRS 3 “Business Combinations” requires that positive purchased goodwill must be tested annually impairment, and written down as necessary in accordance with HKAS 36 “Impairment of Assets”. No amortization should be charged.
3.8.4
Accounting treatment – negative goodwill
(a)
Before negative goodwill is recognised, the fair value of the net assets acquired should be reviewed to ensure that they have not been overstated.

(b)
Once this check has been carried out, any remaining negative goodwill should be recognised immediately in the income statement.
	Question 5 – Internally generated intangible asset and purchased patent
One of the directors, Ms. Tess Chow, noticed that a patent of SDL has been recognised in the consolidated financial statements of MHL at its fair value on 31 December 2011 though it is only recognised on cost basis in the financial statements of SDL. She would like to recognise also the intangible assets of MHL in the consolidated financial statements of MHL at their fair values and thus she has asked for your opinion on the following items:
MHL has a brand name, Magica, which has become well known since MHL developed it ten years ago. Valuation experts have valued the brand name at HKD5 million. Tess would like to recognise this brand name as an intangible asset and report it at HKD5 million in the consolidated financial statements of MHL.
MHL owns a 20-year patent which it acquired five years ago for HKD2 million and recongised at cost in the separate financial statements of MHL. Valuation experts have valued this patent at HKD10 million. Tess would like to report this patent at HKD10 million in the consolidated financial statements of MHL.
Required:

For the consolidated financial statements of MHL, advise the appropriate accounting treatment for the brand name and the patent of MHL as mentioned by Tess.


(6 marks)

(Extracted HKICPA QP Module A Financial Reporting December 2013 Case Q1(a))


	Question 6 – HKAS 38 and HKFRS 3
Stauffer is a public listed company reporting under HKFRS. It has asked for your opinion on the accounting treatment of the following items:
(a)
The Stauffer brand has become well known and has developed a lot of customer loyalty since the company was set up eight years ago. Recently, valuation consultants valued the brand for sale purposes at $14.6m. Stauffer's directors are delighted and plan to recognize the brand as an intangible asset in the financial statements. They plan to report the gain in the revaluation surplus as they feel that crediting it to profit or loss would be imprudent.

(b)
On 1 October 20X5 the company was awarded one of six licences issued by the government to operate a production facility for five years. A "nominal" sum of $1m was paid for the licence, but its fair value is actually $3m.

(c)
The company undertook an expensive, but successful advertising campaign during the year to promote a new product. The campaign cost $1m, but the directors believe that the extra sales generated by the campaign will be well in excess of that over its four year expected useful life.

(d)
Stauffer owns a 30-year patent which it acquired two years ago for $8m which is being amortised over its remaining useful life of 16 years from acquisition. The product sold is performing much better than expected. Stauffer's valuation consultants have valued its current market price at $14m.

(e)
On 1 August 20X6, Stauffer acquired a smaller company in the same line of business. Included in the company's statement of financial position was an in-process research and development project, which showed promising results (and was the main reason why Stauffer purchased the other company), but was awaiting government approval. The project was included in the company's own books at $3m at the acquisition date, while the company's net assets were valued at a fair value of $12m (excluding the project). Stauffer paid $18m for 100% of the company and the research and development project was valued at $5m by Stauffer's valuation consultants at that date. Government approval has now been received, making the project worth $8m at Stauffer's year end.
Required:

Explain how the directors should treat the above items in the financial statements for the year ended 30 September 20X6.


	Question 7 – HKAS 38, HKAS 36, HKAS 16, HKAS 17, HKAS 2 and HKFRS 15
Johan, a public limited company, operates in the telecommunications industry. The industry is capital intensive with heavy investment in licences and network infrastructure. Competition in the sector is (fierce and technological advances are a characteristic of the industry. Johan has responded to these factors by offering incentives to customers and, in an attempt to acquire and retain them, Johan purchased a telecom licence on 1 December 2006 for $120 million. The (licence has a term of six years and cannot be used until the network assets and infrastructure are ready for use. The related network assets and infrastructure became ready for use on 1 December 2007. Johan could not operate in the country without the licence and is not permitted to sell the licence. Johan expects its subscriber base to grow over the period of the licence but is disappointed with its market share for the year to 30 November 2008. The licence agreement does not deal with the renewal of the licence but there is an (expectation that the regulator will grant a single renewal for the same period of time as long as certain criteria regarding network build quality and service quality are met. (Johan has no experience of the charge that will be made by the regulator for the renewal but other licences have been renewed at a nominal cost. The licence is currently stated at its original cost of $120 million in the statement of financial position under non-current assets.
Johan is considering extending its network and has carried out a feasibility study during the year to 30 November 2008. The design and planning department of Johan identified five possible geographical areas for the extension of its network. The (internal costs of this study were $150,000 and the external costs were $100,000 during the year to 30 November 2008. Following the feasibility study, Johan chose a geographical area where it was going to install a base station for the telephone network. The location of the base station was dependent upon getting planning permission. A further independent study has been carried out by third party consultants in an attempt to provide a preferred location in the area, as there is a need for the optimal operation of the network in terms of signal quality and coverage. Johan proposes to build a base station on the recommended site on which planning permission has been obtained. The (third party consultants have charged $50,000 for the study. Additionally Johan has (paid $300,000 as a single payment together with $60,000 a month to the government of the region for access to the land upon which the base station will be situated. The contract with the government is for a period of 12 years and commenced on 1 November 2008. There is no right of renewal of the contract and legal title to the land remains with the government.
Johan (purchases telephone handsets from a manufacturer for $200 each, and sells the handsets direct to customers for $150 if they purchase call credit (call card) in advance on what is called a prepaid phone. The costs of selling the handset are estimated at $1 per set. The (customers using a prepaid phone pay $21 for each call card at the purchase date. Call cards expire six months from the date of first sale. There is an average unused call credit of $3 per card after six months and the card is activated when sold.
Johan also (sells handsets to dealers for $150 and invoices the dealers for those handsets. The dealer can return the handset up to a service contract being signed by a customer. When the customer signs a service contract, the customer receives the handset free of charge. Johan allows the dealer a commission of $280 on the connection of a customer and the transaction with the dealer is settled net by a payment of $130 by Johan to the dealer being the cost of the handset to the dealer ($150) deducted from the commission ($280). The handset cannot be sold separately by the dealer and the service contract lasts for a 12 month period. Dealers do not sell prepaid phones, and Johan receives monthly revenue from the service contract.
The chief operating officer, a non-accountant, has asked for an explanation of the accounting principles and practices which should be used to account for the above events.
Required:

Discuss the principles and practices which should be used in the financial year to 30 November 2008 to account for:
(a)
the licences;
(8 marks)

(b)
the costs incurred in extending the network;
(7 marks)

(c)
the purchase of handsets and the recognition of revenue from customers and dealers.


(8 marks)

Appropriateness and quality of discussion.
(2 marks)



(25 marks)


4.
Government Grants and Disclosure of Government Assistance (HKAS 20)
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4.1
Definitions

4.1.1
Government grants (政府補助) are assistance by government in the form of transfers of resources to an enterprise in return for past or future compliance with certain conditions relating to the operating activities of the enterprise. They exclude assistance that cannot be valued and normal trade with governments.
4.1.2
Government assistance (政府援助) is government action designed to provide an economic benefit to a specific entity. It does not include indirect help such as infrastructure development.

4.2
Recognition

4.2.1
General principles – An entity should not recognize government grants (including non-monetary grants at fair value) until it has reasonable assurance that
(a)
The entity will comply with any conditions attached to the grant; and

(b)
The entity will actually receive the grant.
4.3
Grants related to assets
4.3.1
They are the grants whose primary condition is that an entity qualifying for them should purchase, construct or otherwise acquire long-term assets. Subsidiary conditions may also be attached restricting the type or location of the assets or the periods during which they are to be acquired or held.
4.3.2
Grant for purchases of non-current assets should be recognized over the expected useful lives of the related assets.

4.3.3
There are two acceptable accounting policies for this:

(a)
deduct the grant from the cost of the asset and depreciable the net cost.

(b)
treat the grant as deferred income. Release the grant to profit or loss over the life of the asset. This is the method most commonly used.

	4.3.4
	Example 1

	
	An enterprise opens a new factory and receives a government grant of $15,000 in respect of capital equipment costing $100,000. It depreciates all plant and machinery at 20% pa straight-line.

Show the balance sheet extracts to record the grant in the first year under methods (a) and (b) above.

Solution:

(a)
Write off against asset
Statement of financial position (extract)

Non-current assets:

$

Plant and machinery at cost (100 – 15)

85,000

Less: Depreciation (20% × 85)

(17,000)
68,000

(b)
Deferred income
Government grant deferred income account

$

$

Income statement transfer for year: 20% x $15,000

3,000

Cash grant

15,000

Balance c/d

12,000

15,000

15,000

Balance b/d

12,000

Statement of financial position (extract)

Non-current assets:

$

Plant and machinery at cost

100,000

Less: Depreciation

20,000

80,000

Deferred income:

Government grant

12,000




4.4
Grants related to income

4.4.1
These are government grants other than grants related to assets.

4.4.2
These grants are a credit in the income statement, but there is a choice in the method of disclosure.

(a)
Present as a separate credit or under a general heading, e.g. ‘other income’.

(b)
Deduct from the related expense.

4.4.3
However, if the grant is paid on a different basis, for example achievement of a non-financial objective, such as the creation of a specified number of new jobs, the grant should be matched with the identifiable costs of achieving that objective.

4.5
Repayment of government grants
4.5.1
A government grant that becomes repayable should be accounted for as a revision to an accounting estimate (HKAS 8).

4.5.2
Repayment of a grant related to income should be applied first against any unamortized deferred credit set up in respect of the grant; any excess should be recognized immediately as an expense.

4.5.3
Repayment of a grant related to an asset should be recorded by increasing the carrying amount of the asset or reducing the deferred income balance by the amount repayable. The cumulative additional depreciation that would have been recognized to date as an expense in the absence of the grant should be recognized immediately as an expense.

4.6
Government assistance
4.6.1
Government assistance helps businesses through loan guarantees, loans at a low rate of interest, advice, procurement policies and similar methods. It is not possible to place reliable values on these forms of assistance, so they are not recognized.

	Question 8
Norman has obtained a significant amount of grant income for the development of hotels in Europe. The grants have been received from government bodies and relate to the size of the hotel which has been built by the grant assistance. The intention of the grant income was to create jobs in areas where there was significant unemployment. The grants received of $70 million will have to be repaid if the cost of building the hotels is less than $500 million.

(4 marks)


	Question 9
Coate, a public limited company, is a producer of ecologically friendly electrical power (green electricity). Coate’s revenue comprises mainly the sale of electricity and green certificates. Coate obtains green certificates under a national government scheme. Green certificates represent the environmental value of green electricity. The national government requires suppliers who do not produce green electricity to purchase a certain number of green certificates. Suppliers who do not produce green electricity can buy green certificates either on the market on which they are traded or directly from a producer such as Coate. The national government wishes to give incentives to producers such as Coate by allowing them to gain extra income in this way.
Coate obtains the certificates from the national government on satisfactory completion of an audit by an independent organisation, which confirms the origin of production. Coate then receives a certain number of green certificates from the national government depending on the volume of green electricity generated. The green certificates are allocated to Coate on a quarterly basis by the national government and Coate can trade the green certificates.
Coate is uncertain as to the accounting treatment of the green certificates in its financial statements for the period ended 30 November 2012 and how to treat the green certificates which were not sold at the end of the reporting period.
(7 marks)


5.
Borrowing costs (HKAS 23)
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5.1
Definitions
5.1.1
HKAS 23 defines borrowing costs as “interest and other costs incurred by an enterprise in connection with the borrowing of fund”. These may include:

(a)
interest on bank overdrafts and short-term and long-term borrowings;

(b)
amortisation of discounts or premiums relating to borrowings;

(c)
amortisation of ancillary costs incurred in connection with the arrangement of borrowings;

(d)
finance charges in respect of finance leases;

(e)
exchange difference arising from foreign currency borrowings to the extent that they are regarded as an adjustment to interest costs.

5.1.2
Qualifying assets (符合資本化條件的資産) are defined as assets that necessarily take a substantial period of time to get ready for its intended use or sale. Examples include:

(i)
inventories that require a substantial period of time to bring them to a saleable condition;

(ii)
manufacturing plant, power generation facilities; and

(iii)
investment properties.
5.2
Capitalisation of borrowing costs
5.2.1
Borrowing costs that are directly attributable to the acquisition, construction or production of a qualifying asset form part of that asset. Such borrowing costs are capitalized as part of the cost of the asset when it is probable that they will result in future economic benefits to the entity and the costs can be measured reliably.

5.2.2
If the borrowings are specific to a qualifying asset, the amount of borrowing costs eligible for capitalization is the actual borrowing costs incurred less income on the temporary investment of those borrowings.

5.2.3
In the case of funds that are borrowing generally, the amount of borrowing costs to be capitalized should be determined by applying a capitalization rate to the expenditure on the qualifying asset (reduced by any progress payment received). The capitalization rate should be the weighted average rate of general borrowings, excluding specific borrowings. The amount of borrowing costs capitalized during a period should not exceed the amount of borrowing costs incurred during that period.

5.3
Commencement, suspension and cessation of capitalization
5.3.1
Capitalisation of borrowing costs should commence when:
(a)
expenditure for the asset is being incurred; and

(ii)
borrowing costs are being incurred; and

(iii)
activities that are necessary to prepare the asset for its intended use or sale in progress.
5.3.2
Capitalisation of borrowing costs should be suspended during extended periods in which active development is interrupted.

5.3.3
Capitalisation of borrowing costs should cease when substantially all the activities necessary to prepare the qualifying asset for its intended use or sale are complete.
	Question 10 – Borrowing cost and depreciation

Rondo Hospitality Enterprise (RHE) is a hotel operator. The management is considering to invest in a new hotel project with 150 rooms. The construction of the hotel building and installation of equipment, furniture and fixtures is scheduled to commence on 1 March 2013 and be completed by the end of June 2014. The hotel would be available for use at the same time. The total cost of HK$200 million will be payable in five equal instalments beginning 1 March 2013 and then payable every 4 months.
Without any delay in the completion of the construction and other unforeseen events, RHE plans to have the pre-opening activities for three months and then commence the operation of the new hotel by 1 October 2014.
RHE co-ordinates its financing activities through a centralised treasury function, with borrowings being raised from various sources such as bond issues and bank loans, to finance general requirements, including the acquisition and development of qualifying assets. It is expected that the borrowing requirements of RHE will be much greater than the amounts to be incurred for the hotel project.
The expected useful life of the hotel property is 30 years. It is expected that RHE needs to replace certain equipment and furniture in the hotel rooms every five years in addition to carrying out regular repair and maintenance works. Around HK$40 million of the budgeted expenditure is attributable to these capitalised items. The structure of the building can be used until the end of the hotel's useful life.
Required:

(a)
Calculate the borrowing costs to be capitalised for qualifying assets for the year ending 31 December 2013 and 2014. Assume the capitalisation rate to be applied to the expenditure on the qualifying asset is 6.5%.
(3 marks)

(b)
Discuss the factors the management of RHE should consider in relation to the depreciation of the hotel property.
(6 marks)

(c)
Calculate the depreciation to be charged for the year ending 31 December 2014 with the explanation, assuming a straight line basis is adopted by RHE for depreciation.
(6 marks)


(HKICPA QP Module A Financial Reporting December 2012 Q5)


6.
Impairment of Assets (HKAS 36)
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6.1
Definition
6.1.1
Impairment is a reduction in the recoverable amount of an asset, goodwill or cash generating unit below its carrying amount.

6.1.2
Carrying amount is defined in HKAS 36 as the amount at which an asset is recognized in the balance sheet after deducting any accumulated depreciation and accumulated impairment losses thereon.

6.1.3
Recoverable amount is the higher of fair value less costs to sell (or net selling price or net realizable value) and its value in use.

6.1.4
Net realizable value or fair value less costs to sell is the amount at which an asset could be disposed of, less any direct selling costs.

6.1.5
Value in use is the present value of the future cash flows obtainable as a result of an asset’s continued use, including those resulting from its ultimate disposal.

6.2
Indications of impairment

6.2.1
An entity should carry out a review of its assets at each balance sheet date, to assess whether there are any indications of impairment to any assets. The concept of materiality applies, and only material impairment needs to be identified.

6.2.2
If there are indications of possible impairment, the entity is required to make a formal estimate of the recoverable amount of the assets concerned.

6.2.3
External sources of information:

(a)
Significant decline in the asset’s market value more than would be expected as a result of the passage of time or normal use;

(b)
Significant changes in the technological, market, economic or legal environments;

(c)
Increases in the market interest rate or other market rate of return on investments, and those increases that are likely to affect the discount rate used in calculating the asset’s value;

(d)
Decline in the enterprise’s market capitalization.
6.2.4
Internal sources of information:

(a)
Specific evidence of obsolescence or of physical damage to an asset;

(b)
Significant internal changes to the organization or its operations so that the expected useful life or utility of the asset has seemingly been reduced; and

(c)
Evidence from internal reporting indicating that economic performance of the asset is, or will be, worse than expected.
(d)
There is a significant decline in budgeted net cash flows or operating profit, or a significant increase in budgeted loss flowing from the asset.

(e)
There are operating losses or net cash outflows for the asset when current period amounts are aggregated with budgeted amounts for the future.
6.3
Calculating an impairment loss

6.3.1
An impairment occurs if the carrying amount of an asset is greater than its recoverable amount.

6.3.2
The recoverable amount is the higher of fair value less costs to sell and value in use.
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6.4
Recognising impairment losses in the financial statements

6.4.1
An impairment loss is normally charged immediately in the statement of comprehensive income to the same heading as the related depreciation (e.g. cost of sales or administration).

6.4.2
The recoverable (impaired) amount is then depreciated over its remaining useful life.

	6.4.3
	Example 2

	
	At 1 January 2012 a non-current asset had a carrying amount of $20,000, based on its revalued amount, and a depreciated historical cost of $10,000. An impairment loss of $12,000 arose in the year ended 31 December 2012.

How should this loss be reported in the financial statements for the year ended 31 December 2012?

Solution:

A loss of $10,000 ($20,000 – $10,000) is recognized as other comprehensive income and debited to the revaluation surplus within other components of equity. The remaining loss of $2,000 is recognised as an expense in the period.

Dr. ($)
Cr. ($)
Revaluation surplus
10,000
Non-current asset

10,000
Income statement – impairment loss

2,000

Non-current asset

2,000




6.5
Cash-generating units (CGUs)
6.5.1
It is not usually possible to identify cash flows relating to particular assets. For example, a factory production line is made up of many individual machines, but the revenues are earned by the production line as a whole. This means that value in use must be calculated and the impairment review performed for groups of assets, rather than individual assets.
	6.5.2
	Example 3

	
	A bus company has an arrangement with a town’s authorities to run a bus service on four routes in the town. Separately identifiable assets are allocated to each of the bus routes, and cash inflows and outflows can be attributed to each individual route. Three routes are running at a profit and one is running at a loss. The bus company suspects that there is an impairment of assets on the loss-making route. However, the company will be unable to close the loss-making route, because it is under an obligation to operate all four routes, as part of its contract with the local authority. Consequently, the company should treat all four routes together as a cash generating unit, and calculate the recoverable amount for the unit as a whole.


(a)
Allocating assets to CGUs
6.5.3
The net assets of the business (including capitalized goodwill, but excluding tax balances and interest-bearing debt) are allocated to CGUs. There are two particular problem areas.

(a)
Corporate assets – assets that are used by several CGUs (e.g. a head office building or a research centre). They do not generate their own cash inflows, so do not themselves qualify as CGUs.

(b)
Goodwill – it does not generate cash flows independently of other assets and often relates to a whole business.

6.5.4
If no reasonable allocation of corporate assets or goodwill is possible, then a group of CGUs must be tested for impairment together in a two-stage process.
	6.5.5
	Example 4

	
	An entity acquires a business comprising three CGUs, D, E and F, but there is no reasonable way of allocating goodwill to them. After three years, the carrying amount and the recoverable amount of the net assets in the cash generating units and the purchased goodwill are as follows:

D
E
F
Goodwill
Total
$000
$000
$000
$000
$000
Carrying amount
240
360
420
150
1,170
Recoverable amount

300

420

360

1,080

Step 1: Review the individual units for impairment

F is impaired. A loss of $60,000 is recognized and its carrying amount is reduced to $360,000.

Step 2: Compare the carrying amount of the business as a whole, including goodwill, with its recoverable

The total carrying amount of the business is now $1,110,000 ($1,170,000 – $60,000). A further impairment loss of $30,000 must then be recognized in respect of the goodwill ($1,110,000 – $1,080,000).


(b)
Allocation of an impairment to the unit’s assets
6.5.6
If an impairment loss arises in respect of a CGU, it is allocated among the assets in the unit in the following order:

(a)
any individual assets that are obviously impaired,

(b)
goodwill,

(c)
other assets on a pro rata basis based on the carrying amount of each asset in the unit.

6.5.7
However, the carrying amount of an asset cannot be reduced below the highest of:
(a)
fair value less costs to sell (if determinable),

(b)
its value in use (if determinable),

(c)
zero.

	6.5.8
	Example 5

	
	ABC has identified an impairment loss of $41m for one of its CGUs. The carrying amount of the unit’s net assets was $150m, whereas the unit’s recoverable amount was only $109m.
The draft values of the net assets of the unit are as follows:

$m
Goodwill
13
Property

20

Machinery

49

Vehicles

35

Patents

14

Net monetary assets

19

150

The net selling price of the unit’s assets were insignificant except for the property, which had a market value of $35m. The net monetary assets will be realized in full.

How is the impairment loss allocated to the assets?

Solution:

Firstly, the goodwill is reduced to zero.

No impairment loss can be set against the property because its net selling price is greater than its carrying amount.

Likewise, no impairment loss can be set against the net monetary assets (receivables, cash, etc.) because they will be realized in full.

The balance of $28m ($41m – $13m) is apportioned between the remaining assets on a pro rata basis [so 
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to machinery, and so on].
The table below shows how the impairment will be allocated.
Draft values
Impairment loss
Impaired value
$m
$m
$m
Goodwill
13
(13)
-
Property

20

-

20

Machinery

49

(14)

35

Vehicles

35

(10)

25

Patents

14

(4)

10

Net monetary assets

19

-

19

150

(41)

109




6.6
Impairment of goodwill with NCI
6.6.1
The revision of HKFRS 3 allows two methods of initially valuing the non-controlling interest (NCI) in an entity.
6.6.2
Under full method (or fair value method) of valuing NCI:

(a)
Goodwill shown in the group statement of financial position represents full goodwill, and so together with the rest of the CGU it can be compared to recoverable amount of the CGU on a like with like basis.
(b)
Any impairment of goodwill is therefore allocated between the group and the NCI based upon their respective shareholdings.

	6.6.3
	Example 6 – Impairment of full value goodwill

	
	ABC owns 80% of BBC. At 31 December 2011 the carrying amount of BBC’s net assets is $60 million, excluding goodwill of $8 million that arose on the original acquisition. The NCI is valued using the fair value method.
Calculate the impairment loss if the recoverable amount of BBC is:

(a)
$64 million

(b)
$50 million

Solution:

(a)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount

64

Impairment

(4)

4

The impairment loss relates only to goodwill. This will be charged to income, with the effect that it will be borne by the group and the NCI based upon their respective shareholdings.

(b)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount

50

Impairment

(8)

(10)

18

The impairment loss relates first to goodwill, with the remainder set against other assets on a pro-rata basis, unless there is further information available regarding the recoverable amount of other individual assets. The impairment of $18m is charged to income statement, with the effect that it will be borne by the group and NCI based upon their respective shareholdings.


6.6.4
Under proportion of net assets method of valuing NCI
(a)
Where this method is adopted, the NCI share of goodwill is not reflected in the group accounts.

(b)
Therefore any comparison between the carrying value of a CGU (including goodwill) and its recoverable amount will not be on a like for like basis.

(c)
In order to address this problem, goodwill must be grossed up to include goodwill attributable to the NCI prior to conducting the impairment review.

(d)
This grossed up goodwill is known as “total notional goodwill”.

(e)
Once any impairment loss is determined, it should be allocated firstly to the total notional goodwill and then to the CGU’s assets on a pro rata basis.

(f)
As only the parent’s share of the goodwill is recognized in the group accounts, only the parent’s share of the impairment loss should be recognized.

	6.6.5
	Example 7 – NCI on proportionate basis

	
	ABC owns 80% of BBC. At 31 December 2011 the carrying amount of BBC’s net assets is $60 million, excluding goodwill of $8 million => not consider NCI that arose on the original acquisition. The NCI is valued using the proportion of net assets method.

Calculate the impairment loss if the recoverable amount of BBC is:

(a)
$64 million

(b)
$50 million

Solution:

(a)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount (80%)
8
60
68
Recoverable amount (20/80 × $8m)

2

2

Notional adjusted carrying amount

10

60

70

Recoverable amount

64

Impairment loss

6

The impairment loss relates only to goodwill. Only the proportion relating to the recognized goodwill is recognized in the financial statements, so 80% of $6m, i.e. $4.8m.

(b)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount (20/80 × $8m)

2

2

Notional adjusted carrying amount

10

60

70

Recoverable amount

50

Impairment loss

20

The impairment loss is allocated as follows: $8m to recognized goodwill (as before) and the remaining $10m (20 – 10) to other net assets.


6.7
Reversal of an impairment loss
6.7.1
The calculation of impairment losses is based on predictions of what may happen in the future. Sometimes, actual events turn out to be better than predicted. If this happens, the recoverable amount is re-calculated and the previous write-down is reversed.

(a)
The reversal of the impairment loss should be recognized immediately as income in profit or loss for the year.

(b)
If the original impairment was charged against the revaluation surplus, it is recognized as other comprehensive income and credited to the revaluation surplus.

(c)
The carrying amount of the asset should be increased to its new recoverable amount.
(d)
The reversal must not take the value of the asset above the amount it would have been if the original impairment had never been recorded.
	6.7.2
	Example 8

	
	Cost of machinery purchased at 1.1.2008
$1,000,000
Depreciation method
Straight line over 20 years
Fair value at 31.12.2008

$1,200,000

Recoverable amount at 31.12.2009

$800,000

Recoverable amount at 31.12.2011

$1,150,000

Required:

Calculate the amount of reversal of impairment loss in 2011.

Solution:

Before making any adjustment for the reversal, the carrying amount of the machinery at 31 December 2011 that, had no impairment loss been recognized for the asset in prior years, must firstly be computed.
No impairment

With impairment

$

$

Cost at 1.1.2008

1,000,000

1,000,000

Depreciation for 2008

(50,000)

(50,000)

Carrying amount at 31.12.08

950,000

950,000

Revaluation surplus

250,000

250,000

Carrying amount at 31.12.2008

1,200,000

1,200,000

Depreciation for 2009

(63,158)

(63,158)

Carrying amount at 31.12.2009

1,136,842

1,136,842

Impairment ($400,000 – $63,158)

(336,842)

Carrying amount

800,000

Depreciation for 2010 and 2011

(126,316)

(88,888)

Carrying amount at 31.12.2011

1,010,526

711,112

In this case, the maximum amount for the reversal that can be reflected in the financial statements for 2011 would be limited to $1,010,526, as it is lower that the asset’s recoverable amount of $1,150,000. Therefore, the reversal of impairment loss for $299,414 ($1,010,526 – $711,112) can be accounted for.
The journal entries to record the reversal of impairment loss would be:

31.12.2011

Dr. ($)
Cr. ($)
Machinery
299,414
P/L – reversal of impairment loss

86,842
Revaluation surplus ($299,414 – $86,842)

212,572

(Being reversal of impairment loss on the asset recognized.)




	Question 11 – Impairment

York Marble Limited (YM) has operated a tile manufacturing plant in the city center for more than 15 years. Due to a recent change in government policy on environmental protection and city development, YM was ordered to close the production plant by the end of September 2011 and return the leasehold land to the government early at a consideration based on the market price of land with a similar remaining lease term and location.
As at 31 May 2011, YM had the following assets related to the production plant:
$ million

Buildings and infrastructure

23.8

Production equipment

48.0

Electricity generator

5.2

Land under operating lease up to 2024

13.0

Inventories – Raw materials

8.4

Inventories – Finished products

6.4

According to the original lease term, YM is required to dismantle the buildings and infrastructure before returning the bare land to the government. Previously, the company has recognised a provision for the dismantling to be carried out by the end of the lease term of the land in the cost of these assets. The carrying amount of the provision at 31 May 2011 is $1.5 million. Based on a quotation from a contractor, it costs $3 million for this exercise to be carried out by September 2011.
All production equipment will be relocated to another manufacturing plant of YM 60 km away for continuing usage. The relocation and installation costs are estimated to be $4 million. YM agreed to sell the electricity generator to another company at $4 million. The relocation cost will be borne by the buyer.
Although the final consideration of the leasehold land to be paid by the government has yet to be determined, the government has indicated to YM that the amount would be not less than $35 million.
YM will continue manufacturing until the end of August and it is expected that all the raw materials will be consumed for the production of tiles and sold at a profit. Half of the finished products were made to order with a gross profit of 20% and delivered to customers in early June 2011. The remaining half is obsolete and old model items which could only be sold at 40% of the cost.
Required:

Discuss the accounting treatment under Hong Kong Financial Reporting Standards that should be adopted by YM for each individual asset as at 31 May 2011.
(18 marks)

(HKICPA QP Module A Financial Reporting December 2011 Q3)


	Question 12 – Impairment

Winner Sports Limited (WSL) is a sports shoe manufacturer and it sells its products under two different brands, Run Pro and Jog Pro, which were acquired in 2008. Both units have been established for the research and development, design, manufacturing, and marketing the products of individual brands with their own production plant and sales teams. In the past two years, the sales performance for Run Pro has deteriorated significantly due to the keen competition in the market and the lack of new designs and models introduced, while Jog Pro has achieved a double digit growth of sales. The management is considering to re-allocate resources to enhance the profitability of the entity.
The statement of financial position showed the following assets at 30 June 2012:
Run Pro

Jog Pro

Total

$’000

$’000

$’000

Brand

25,000

5,000

30,000

Plant and equipment

40,000

25,000

65,000

Development cost capitalized
6,000

3,000

9,000

Inventories

12,000

8,000

20,000

83,000

41,000

Both brands are determined to be of indefinite life. No impairment has been recognised since acquisition.
The above are the only assets that are directly attributable to the brands. Corporate assets are negligible.
For the purpose of preparation of the annual financial statements, the management has carried out the following estimation:
Run Pro

Jog Pro

Total

$’000

$’000

$’000

Value in use

64,000

60,000

124,000

Fair value less cost to sell

– Unit as a whole

60,000

58,000

118,000

– Plant and equipment
36,000

22,000

58,000

– Development cost capitalized

nil

nil

nil

Inventories are excluded from the cash generating unit (CGU) carrying value and the impact has been properly incorporated in determining the value in use. Impact of other working capital is minimal.
The fair value less costs to sell of individual items under plant and equipment are indeterminable.
Inventories are with net realisable value / fair value less costs to sell higher than their carrying amount.
Required:

(a)
Briefly discuss and advise whether WSL is required to conduct asset impairment review at 30 June 2012.
(3 marks)

(b)
“The total of value in use of both brands is higher than their total net assets, there is no impairment issue.” Comment on this statement with reasons.
(5 marks)

(c)
Determine the impairment of assets with detail calculation, if any, to be recognised by WSL at 30 June 2012.
(9 marks)

(HKICPA QP Module A Financial Reporting June 2013 Q3)


	Question 13 – HKAS 2 and HKAS 36
Xelon Company Limited (XCL) is a tablet PC accessories manufacturing company which produces the finished goods in accordance with the indicated but not committed order quantities provided by customers on a quarterly basis. The selling price is pre-determined together with the quarterly order sheet.
At 31 October 2013, XCL had 800,000 units of finished goods of a particular model on hand at a weighted average cost per unit of $12. The customer advised XCL on the same date that a new series of tablet PC with a different size would be introduced by Q1 2014 and therefore, it would only take up another 500,000 units of the existing model at $14 per unit before discontinuance of the model (the Final Order).
The manufacture of the tablet PC accessories involves usage of specialised moulds developed internally and cannot be used for other models. For the model mentioned, XCL capitalised the mould production costs of $450,000 and depreciates the cost over the estimated useful life of 18 months commenced from January 2013. Estimated selling price of the moulds as scrap metal is $10,000.
Apart from the finished goods, XCL also has certain raw material purchased for the production of this model and work in progress under production in the warehouse.
Required:

(a)
Discuss the differences between the measurement of net realizable value of inventories and impairment assessment of property, plant and equipment.


(4 marks)

(b)
Advise XCL regarding the impact of the customer's Final Order on the carrying amount of (i) inventories; and (ii) moulds, as at 31 October 2013.
(8 marks)


(HKICPA QP Module A Financial Reporting June 2014 Q2)


	Question 14 – HKAS 36, HKAS 37, HKAS 10, HKFRS 5, HKAS 18, HKAS 40 and HKFRS 9
Ashlee, a public limited company, is preparing its group financial statements for the year ended 31 March 2015. The company applies newly issued IFRSs at the earliest opportunity. The group comprises three companies, Ashlee, the holding company, and its 100% owned subsidiaries Pilot and Gibson, both public limited companies. The group financial statements at first appeared to indicate that the group was solvent and in a good financial position. However, after the year end, but prior to the approval of the financial statements mistakes have been found which affect the financial position of the group to the extent that loan covenant agreements have been breached.

As a result the loan creditors require Ashlee to cut its costs, reduce its operations and reorganise its activities. Therefore, redundancies are planned and the subsidiary, Pilot, is to be reorganised. The carrying value of Pilot’s net assets, including allocated goodwill, was $85 million at 31 March 2015, before taking account of reorganization costs. The directors of Ashlee wish to include $4 million of reorganisation costs in the financial statements of Pilot for the year ended 31 March 2015. The directors of Ashlee have prepared cash flow projections which indicate that the net present value of future net cash flows from Pilot is expected to be $84 million if the reorganisation takes place and $82 million if the reorganisation does not take place.

Ashlee had already decided prior to the year end to sell the other subsidiary, Gibson. Gibson will be sold after the financial statements have been signed. The contract for the sale of Gibson was being negotiated at the time of the preparation of the financial statements and it is expected that Gibson will be sold in June 2015.

The carrying amounts of Gibson and Pilot including allocated goodwill were as follows at the year end:

Gibson

Pilot

$m

$m

Goodwill

30

5

Property, plant and equipment – cost

120

55

– valuation

180

Inventory

100

20

Trade receivables

40

10

Trade payables

(20)

(5)

450

85

The fair value of the net assets of Gibson at the year end was $415 million and the estimated costs of selling the company were $5 million.

Part of the business activity of Ashlee is to buy and sell property. The directors of Ashlee had signed a contract on 1 March 2015 to sell two of its development properties which are carried at the lower of cost and net realisable value under HKAS 2 ‘Inventories’. The sale was agreed at a figure of $40 million (carrying value $30 million). A receivable of $40 million and profit of $10 million were recognised in the financial statements for the year ended 31 March 2015. The sale of the properties was completed on 1 May 2015 when the legal title passed. The policy used in the prior year was to recognise revenue when the sale of such properties had been completed.

Additionally, Ashlee had purchased, on 1 April 2014, 150,000 shares of a public limited company, Race, at a price of $20 per share. Ashlee had incurred transaction costs of $100,000 to acquire the shares. The company is unsure as to whether to classify this investment as ‘at fair value through other comprehensive income’ or ‘at fair value through profit and loss’ in the financial statements for the year ended 31 March 2015. The quoted price of the shares at 31 March 2015 was $25 per share. The shares purchased represent approximately 1% of the issued share capital of Race and are not classified as ‘held for trading’.

There is no goodwill arising in the group financial statements other than that set out above.

Required:

Discuss the implications, with suitable computations, of the above events for the group financial statements of Ashlee for the year ended 31 March 2005.
(25 marks)


(Amended ACCA 3.6 Advanced Corporate Reporting June 2005 Q3)


7.
Non-current Assets Held for Sale (HKFRS 5)
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7.1
Definitions
7.1.1
Held for sale is defined in HKFRS 5 and only applied only to non-current assets or disposal groups. The broad principle is that a non-current asset, or disposal group, is held for sale if the carrying amount of the asset or disposal group will be recovered principally through sale rather than through continuing use.

7.1.2
Disposal group is a group of assets to be disposed of, by sale or otherwise, together as a group in a single transaction, and liabilities directly associated with those assets that will be transferred in the transaction.
(a)
HKFRS 5 applies to disposal groups as well as individual non-current assets that are held for sale.

(b)
A disposal group may include goodwill acquired in a business.

(c)
Subsidiaries acquired exclusively with a view to resale are classified as disposal groups held for sale if they meet the conditions below.

7.1.3
A discontinued operation is a component of an entity that either has been disposed of, or is classified as held for sale.

7.2
Classification as held for sale

7.2.1
HKFRS 5 requires the following conditions to be met before an asset or disposal group can be classified as held for sale.
(a)
The item is available for immediate sale in its present condition.

(b)
The sale is highly probable.

7.2.2
For the sale to be highly probable, the following must apply.

(c)
Management is committed to a plan to sell the item.

(d)
An active programme to locate a buyer has been initiated.

(e)
The item is being actively marketed at a reasonable price in relation to its current fair value.

(f)
The sale is expected to be completed within one year from the date of classification.

(g)
It is unlikely that the plan will change significantly or be withdrawn.

7.2.3
Non-current assets held for sale should not be depreciated, even if they are still being used by the entity.

7.2.4
Note that assets must be disposed by a sale if they are to be classified as held for sale. Assets that are to be abandoned or wound down gradually cannot be classified as held for sale, although they may qualify as discontinued once they have been abandoned.

7.3
Correlation with HKAS 37’s timing for restructuring provisions
7.3.1
A discontinued operation can be an operation that has been abandoned, has been disposed of, or is held for sale. If the operation to be discontinued does not yet meet the definition of “held for sale” then it will be disclosed as a continuing operation and not as a “discontinued operation” in the primary statements.
	7.3.2
	Example 9

	
	The management of entity A has announced a plan to close down a business segment, but has not yet taken steps to implement the plan. By announcing the plan they have created a valid expectation in others that the plan will be implemented, and should therefore make provisions under HKAS 37 for direct expenditures necessarily entailed by the restructuring, and for employee termination benefits under HKAS 19 “Employee Benefits”. However, they would not reclassify any non-current assets as "held for sale" as they have not yet taken steps to actively market the assets to be disposed of, nor would they classify the business segment as discontinued.


7.3.3
If the criteria for held for sale are met after the balance sheet date, but before the date of approval of the financial statements, then disclosure will be required. This would be on the basis that this is a non-adjusting, but discloseable, event after reporting period.

7.4
Correlation with HKAS 36’s timing for recognizing impairment losses

7.4.1
HKAS 36 “Impairment of Assets” measures recoverable amounts at the higher of (i) the present value of management’s forecast of future cash flows and (ii) current fair value less costs to sell (or net selling price), irrespective of whether management intends to sell the asset (or cash-generating unit).
7.4.2
Therefore, as with restructuring provisions, the timing of recognizing an impairment loss may, or may not, coincide with meeting the strict conditions in HKFRS 5 for being classified as held for sale. As a result, impairment losses may be recognized earlier than the held for sale criteria are met.

7.5
Failure to complete the sale within one year

7.5.1
If the period to complete the sale extends beyond one year, the assets may still be classified as “held for sale” provided the delay is caused by events or circumstances beyond the entity’s control and there is sufficient evidence that the entity remains committed to its plan to sell the assets.

7.5.2
Broadly speaking, the circumstances in which the period may be extended fall into two categories:

(i)
firm purchase commitments from a buyer are expected to be, or have been, obtained during the period, but there is some delay in completing the sale; or

(ii)
there is an unexpected change in circumstances during the 12 month period, and as a result the asset is not sold within that period (but continues to be marketed at a reasonable price).

7.5.3
According to the definition of “firm purchase commitment” in HKFRS 4, only agreements with unrelated parties may be regarded as “firm purchase commitments” for the purpose of these concessions.

7.5.4
This is presumably with the intention of prohibiting recognition of assets as “held for sale” when the related party relationship may have contributed to meeting the requirements more in form than in substance. Extra care therefore needs to be taken to ensure the rules are met if at the balance sheet date there are transactions with related parties pending completion.
7.5.5
If the criteria for held for sale are no longer met, then the entity must cease to classify the assets or disposal group as held for sale. The assets or disposal group must be measured at the lower of:

(a)
its carrying amount therefore it was classified as held for sale adjusted for any depreciation, amortization or revaluations that would have been recognized had it not been classified as held for sale.

(b)
its recoverable amount at the date of the subsequent decision not to sell.
7.5.6
Any adjustment required is recognized in profit or loss as a gain or loss from continuing operations.
7.6
Measurement of assets and disposal groups held for sale
7.6.1
Items classified as held for sale should be measured at the lower of their carrying amount and fair value less cost to sell.

7.6.2
Where fair value less cost to sell is lower than carrying amount, the items is written down and the write down is treated as an impairment loss.

7.6.3
Where a non-current asset has been previously revalued and is now classified as being held for sale, it should be revalued to fair value immediately before it is classified as held for sale. It is then revalued again at the lower of the carrying amount and the fair value less costs to sell. The difference is the selling costs and these should be charged against profits in the period.
7.6.4
When a disposal group is being written down to fair value less costs to sell, the impairment loss reduces the carrying amount of assets in the order prescribed by HKAS 36 – that is write down goodwill first, then allocate the remaining loss to the assets pro rata based on their carrying amount.
7.6.5
A gain can be recognized for any subsequent increase in fair value less costs to sell, but not in excess of the cumulative impairment loss that has already been recognized, either when the assets were written down to fair value less costs to sell or previously under HKAS 36.
	7.6.6
	Example 10

	
	On 1 January 2008 AB acquires a building for $200,000 with an expected life of 50 years. On 31 December 2011 AB puts the building up for immediate sale. On that date the building has a market value of $220,000 and expenses of $10,000 and tax of $5,000 will be payable on the sale. Describe the accounting for this building.

Solution:

Until 31 December 2011, the building is a normal non-current asset governed by HKAS 16, being depreciated at $200,000 ÷ 50 = $4,000 pa. The carrying amount at 31 December 2011 is therefore $184,000 (= $200,000 – 4 × $4,000).

On 31 December 2011, the building is reclassified as a non-current asset held for sale. It is measured at the lower of carrying amount ($184,000) and fair value less costs to sell ($220,000 – $10,000) = $210,000. Note that any applicable tax expense is excluded from the determination of costs to sell.
The building will therefore be measured at 31 December 2011 at $184,000.


7.7
Presenting discontinued operations
7.7.1
An entity should present and disclose information that enables users of the financial statements to evaluate the financial effects of discontinued operations and disposals of non-current assets or disposal groups.

	7.7.2
	Example 11

	
	The following illustration is taken from the implementation guidance to HKFRS 5. Profit for the year from discontinued operations would be analysed in the notes.

XYZ Group

Income Statement

For the year ended 31 December 2014
2014
2013
Continuing operations

$000

$000

Revenue

X

X

Cost of sales

(X)

(X)

Gross profit

X

X

Other income

X

X

Distribution costs

(X)

(X)

Administrative expenses

(X)

(X)

Other expenses

(X)

(X)

Finance costs

(X)

(X)

Share of profit of associates

X

X

Profit before tax

X

X

Income tax expense

(X)

(X)

Profit for the year from continuing operations

X

X

Discontinued operations

Profit for the year from discontinued operations
X
X
Profit for the year

X

X

Profit attributable to:

Owners of the parent

X

X

Non-controlling interest

X

X

X

X

An alternative to this presentation would be to analyse the profit from discontinued operations in a separate column in the statement of comprehensive income.


7.8
Presenting non-current assets held for sale in the statement of financial position
7.8.1
HKFRS 5 states that assets classified as held for sale should be presented separately from other assets in the statement of financial position. The liabilities of a disposal groups classified as held for sale should be presented separately from other liabilities in the statement of financial position.

(a)
Assets and liabilities held for sale should not be offset and presented as a single amount.

(b)
The major classes of assets and liabilities classified as held for sale must be separately disclosed either on the face of the statement of financial position or in the notes.

(c)
Where an asset or disposal group is classified as held for sale after the reporting date, but before the issue of the financial statements, details should be disclosed in the notes (this is a non-adjusting event after the reporting date).
	7.8.2
	Example 12

	
	Statement of financial position
2014
2013
Assets
$000

$000

Non-current assets
Property, plant and equipment
X
X
Goodwill
X

X

Financial assets
X

X

X
X
Current assets
Inventories
X
X
Trade receivables
X

X

Cash and cash equivalents
X
X

Non-current assets classified as held for sale
X
X
X

X

Total assets
X
X




	Question 15
Rockby, a public limited company, has committed itself before its year-end of 31 March 2004 to a plan of action to sell a subsidiary, Bye. The sale is expected to be completed on 1 July 2004 and the financial statements of the group were signed on 15 May 2004. The subsidiary, Bye, a public limited company, had net assets at the year end of $5 million and the book value of related goodwill is $1 million. Bye has made a loss of $500,000 from 1 April 2004 to 15 May 2004 and is expected to make a further loss up to the date of sale of $600,000. Rockby was at 15 May 2004 negotiating the consideration for the sale of Bye but no contract has been signed or public announcement made as of that date.
Rockby expected to receive $4·5 million for the company after selling costs. The value-in-use of Bye at 15 May 2004 was estimated at $3·9 million.
Further the non-current assets of Rockby include the following items of plant and head office land and buildings:
(i)
Tangible non-current assets held for use in operating leases: at 31 March 2004 the company has at carrying value $10 million of plant which has recently been leased out on operating leases. These leases have now expired. The company is undecided as to whether to sell the plant or lease it to customers under finance leases. The fair value less selling costs of the plant is $9 million and the value-in-use is estimated at $12 million.
Plant with a carrying value of $5 million at 31 March 2004 has ceased to be used because of a downturn in the economy. The company had decided at 31 March 2004 to maintain the plant in workable condition in case of a change in economic conditions. Rockby subsequently sold the plant by auction on 14 May 2004 for $3 million net of costs.
(ii)
The Board of Rockby approved the relocation of the head office site on 1 March 2003. The head office land and buildings were renovated and upgraded in the year to 31 March 2003 with a view to selling the site. During the improvements, subsidence was found in the foundations of the main building. The work to correct the subsidence and the renovations were completed on 1 June 2003. As at 31 March 2003 the renovations had cost $2·3 million and the cost of correcting the subsidence was $1 million. The carrying value of the head office land and buildings was $5 million at 31 March 2003 before accounting for the renovation. Rockby moved its head office to the new site in June 2003 and at the same time, the old head office property was offered for sale at a price of $10 million.
However, the market for commercial property had deteriorated significantly and as at 31 March 2004, a buyer for the property had not been found. At that time the company did not wish to reduce the price and hoped that market conditions would improve. On 20 April 2004, a bid of $8·3 million was received for the property and eventually it was sold (net of costs) for $7·5 million on 1 June 2004. The carrying value of the head office land and buildings was $7 million at 31 March 2004.
Non-current assets are shown in the financial statements at historical cost.
Required:

(a)
Discuss the way in which the sale of the subsidiary, Bye, would be dealt with in the group financial statements of Rockby at 31 March 2004 under HKFRS 5 Non-current assets held for sale and discontinued operations.
(8 marks)

(b)
Discuss whether the following non-current assets would be classed as held for sale if HKFRS 5 had been applied to:

(i)
the items of plant in the group financial statements at 31 March 2004;



(7 marks)

(ii)
the head office land and buildings in the group financial statements at 31 March 2003 and 31 March 2004.
(5 marks)



(Total 20 marks)


Additional Examination Style Questions
Question 16 – HKAS 38, HKAS 36 and HKFRS 9

Scramble, a public limited company, is a developer of online computer games.

(a)
At 30 November 2011, 65% of Scramble’s total assets were mainly represented by internally developed intangible assets comprising the capitalised costs of the development and production of online computer games. These games generate all of Scramble’s revenue. The costs incurred in relation to maintaining the games at the same standard of performance are expensed to the statement of comprehensive income. The accounting policy note states that intangible assets are valued at historical cost. Scramble considers the games to have an indefinite useful life, which is reconsidered annually when the intangible assets are tested for impairment. Scramble determines value in use using the estimated future cash flows which include maintenance expenses, capital expenses incurred in developing different versions of the games and the expected increase in revenue resulting from the above mentioned cash outflows. Scramble does not conduct an analysis or investigation of differences between expected and actual cash flows. Tax effects were also taken into account.
(7 marks)
(b)
Scramble has two cash generating units (CGU) which hold 90% of the internally developed intangible assets. Scramble reported a consolidated net loss for the period and an impairment charge in respect of the two CGUs representing 63% of the consolidated profit before tax and 29% of the total costs in the period. The recoverable amount of the CGUs is defined, in this case, as value in use. Specific discount rates are not directly available from the market, and Scramble estimates the discount rates, using its weighted average cost of capital. In calculating the cost of debt as an input to the determination of the discount rate, Scramble used the risk-free rate adjusted by the company specific average credit spread of its outstanding debt, which had been raised two years previously. As Scramble did not have any need for additional financing and did not need to repay any of the existing loans before 2014, Scramble did not see any reason for using a different discount rate. Scramble did not disclose either the events and circumstances that led to the recognition of the impairment loss or the amount of the loss recognised in respect of each cash-generating unit. Scramble felt that the events and circumstances that led to the recognition of a loss in respect of the first CGU were common knowledge in the market and the events and the circumstances that led to the recognition loss of the second CGU were not needed to be disclosed.
(7 marks)
(c)
Scramble wished to diversify its operations and purchased a professional football club, Rashing. In Rashing’s financial statements for the year ended 30 November 2011, it was proposed to include significant intangible assets which related to acquired players’ registration rights comprising registration and agents’ fees. The agents’ fees were paid by the club to players’ agents either when a player is transferred to the club or when the contract of a player is extended. Scramble believes that the registration rights of the players are intangible assets but that the agents fees do not meet the criteria to be recognised as intangible assets as they are not directly attributable to the costs of players’ contracts. Additionally, Rashing has purchased the rights to 25% of the revenue from ticket sales generated by another football club, Santash, in a different league. Rashing does not sell these tickets nor has any discretion over the pricing of the tickets. Rashing wishes to show these rights as intangible assets in its financial statements. 
(9 marks)
Required:

Discuss the validity of the accounting treatments proposed by Scramble in its financial statements for the year ended 30 November 2011.

The mark allocation is shown against each of the three accounting treatments above.

Professional marks will be awarded for clarity and expression of your discussion.
(2 marks)


(25 marks)
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